

Kansas Corporation Commission Oil & Gas Conservation Division 1088074

Form ACO-1
June 2009
Form Must Be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #317	788	1	API No. 15 - 15-081-21965-00-00	
Name: Veenker Resource			Spot Description:	
Address 1: PO BOX 14339			NE_SW_SE_SE_Sec16_Twp28_S. R34 ☐ East ▼	1 West
Address 2:			628 Feet from North / South Line of S	
City: OKLAHOMA CITY		73113 _ 0339	786 Feet from ▼ East / □ West Line of S	
Contact Person: Carrie Smit		T	Footages Calculated from Nearest Outside Section Corner:	Jeonon
Phone: (405) 751-141	4			
			□ NE □ NW ☑ SE □ SW	
CONTRACTOR: License # 3			County: Haskell Guy Fletcher SWD-1	
Name: Trinidad Drilling Lim			Lease Name: Well #: Well #:	
Wellsite Geologist: N/A			Field Name: Eubank	
Purchaser:			Producing Formation: Glorietta	
Designate Type of Completion:			Elevation: Ground: 3036 Kelly Bushing: 3042	
✓ New Well	Re-Entry	Workover	Total Depth: 1630 Plug Back Total Depth: 1610	
	√ swd	□ siow	Amount of Surface Pipe Set and Cemented at: 821	_ Feet
☐ Oil ☐ WSW	₩ SWD	☐ siGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No	
	GSW	Temp. Abd.	If yes, show depth set:	Eggt
CM (Coal Bed Methane)	_ 00,,	remp. Abd.		_ ! 661
Cathodic Other	Core. Expl., etc.):		If Alternate II completion, cement circulated from: 821	
If Workover/Re-entry: Old Well			feet depth to:w/_400	sx cmt
•				
Operator:			Drilling Fluid Management Plan	
Well Name:			(Data must be collected from the Reserve Pit)	
Original Comp. Date:			Chloride content: 0 ppm Fluid volume: 0	bbls
Deepening Re-p		NHR Conv. to SWD	Dewatering method used: Evaporated	
	Conv. to		· ·	
Plug Back:		Back Total Depth	Location of fluid disposal if hauled offsite:	
Commingled			Operator Name:	
Dual Completion			Lease Name: License #:	
SWD			Quarter Sec TwpS. R	_] West
☐ ENHR ☐ GSW			County: Permit #:	
_	5/2011	10/31/2011	•	
	Reached TD	Completion Date or		

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
☑ Wireline Log Received
Geologist Report Received
✓ UIC Distribution
ALT I II Approved by: Deanna Garrison Date: 08/07/2012

Side Two



Operator Name: Veer	nker Resources,	Inc.		_ Lease N	Name: _	Juy Fletcher		Well #:SW	D-1	
Sec. 16 Twp.28	s. r. <u>34</u>	☐ East 🗸	☑ West	County	Hask	ell				
INSTRUCTIONS: Shortime tool open and clos recovery, and flow rates line Logs surveyed. Att	ed, flowing and shus if gas to surface te	t-in pressure st, along with	s, whether sh h final chart(s	nut-in press	sure read	ched static level	, hydrostatic pre	essures, bottom h	ole temperat	ture, fluid
Drill Stem Tests Taken (Attach Additional St	neets)	Yes	✓ No			og Formatio	on (Top), Depth		☐ Sam	
Samples Sent to Geolo	gical Survey	Yes	✓ No		Nam N/A	е		Тор	Datu	i m
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)		☐ Yes ✔ Yes ✔ Yes	✓ No ☐ No ☐ No							
List All E. Logs Run:										
Electric/Gamma										
		Danast		RECORD	✓ Ne	ew Used ermediate, produc	etion atc			
Purpose of String	Size Hole Drilled	Size	Casing n O.D.)	Weig	ght	Setting Depth	Type of Cement	# Sacks Used	Type and Additi	
Prod	7.8750	4.50	11 0.0.)	11.6		1610		350		
		,	ADDITIONAL	. CEMENTII	NG / SQL	JEEZE RECORI)			
Purpose: —— Perforate —— Protect Casing —— Plug Back TD	Depth Top Bottom	Type of Cement # Sacks		ks Used Type and Percent Additives						
Plug Off Zone	-					,				
Shots Per Foot	PERFORAT Specify	ON RECORD Footage of Ea	- Bridge Plug ch Interval Per	s Set/Type forated			acture, Shot, Cen Amount and Kind o	nent Squeeze Record f Material Used)	d	Depth
4	1500-1550									
	· · · · · · · · · · · · · · · · · · ·							<u> </u>		
								•		
		-						· · · · · · · · · · · · · · · · · · ·		
TUBING RECORD:	Size: .3750	Set At: 1464		Packer A	At:	Liner Run:	Yes	No		
Date of First, Resumed	Production, SWD or El	NHR.	Producing Met	hod: Pumpir	ng [Gas Lift	Other (Explain)			
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wa	ter	Bbis.	Gas-Oil Ratio		Gravity
DISPOSITIO	ON OF GAS:			METHOD OF	F COMPL	ETION:		PRODUCTION	ON INTERVAL	.:
Vented Sold	_	□ or	oen Hole	Perf.	Duall		ommingled	Disposal		
(If vented, Sub	mit ACO-18.)	Ot	her (Specify) _		,		= = 7			



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax: (817) 546-7282 (817) 246-3361

INVOICE

Invoice Number: 128886 Invoice Date: Oct 14, 2011

Page:

ge. '

Veenker Resources, Inc. P. O. Box 14339

P. O. Box 14339 Oklahoma City_i OK 73113-0339

Customer ID	Well Name# or Customer P.O.	Payment Terms			
Veen	Guy Fletcher SWD #1	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS1-01	Liberal	Oct 14, 2011	11/13/11		

Quantity ***	Item	Description	Unit Price	Amount
	MAT	Class A Common	16.25	2,437.50
13.00	1	Chloride	58.20	756.80
250.00		Class A Lightweight	15.00	3,750.00
63.00		Flo Seal	2.70	170.10
416.00	J	Handling	2.25	936.00
50.00		Mileage	45.76	2,288.00
	SER	Surface	1,125.00	1,125.00
512.53		Extra Footage	0.95	485.90
100.00	1	Heavy Vehicle Mileage	7.00	700.00
	SER	Heavy Vehicle Mileage Manifold Head Rental Light Vehicle Mileage 6 5/8 Centralizers 8 5/8 AFU Insert 8 6/8 Guide Shoe	200.00	200.00
100.00	1	Light Vehicle Mileager	4.00	400.00
	EQP	8 5/8 Centralizers	64.00	256.00
	EOP	8 5/8 AFU Insert	382.00	382.00
	EQP	8 5/8 Guide Shoe	394.00	394.0
	EQP	8 5/8 Plug	112.00	112.00
			SCANNE	
	-		SCAME	14,394.1

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

52858

ONLY IF PAID ON OR BEFORE

Subtotal 14,394.10
Sales Tax

Total Invoice Amount 14,394.10
Payment/Credit Applied

REC'D OCT 24 2011

ALLIED CEMENTING CO., LLC. 036549

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		SER	LBE	RN Ka
DATE (14-11 TC 285 34W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
KSELEKHER WELL SOUD LOCATION 53	de wto	11.100	COUNTY	STATE
	a) Alit		77-3-4-6	
CONTRACTOR TRININGS 211	OWNER _	AME		
YPE OF JOB				,
IOLE SIZE /2/2 T.O. 820	CEMENT	nnonn 25	7 < 0	2-12-
ASING SIZE DEPTH & D.	AMOUNT C		DE Z	300
TUBING SIZE DEPTH DEPTH DEPTH		200	300	
TOOL DEPTH				
PRES, MAX 5-07) MINIMUM /	COMMON.	150	_9/625	-2/_37=
MEAS, LINE SHOE JOINT 38'	POZMIX		@	
CEMENT LEFT IN CSG. 38	GEL .	7.00	- [@]	
PERFS.		135KCC	@5000	_756
DISPLACEMENT 49. 135	ASC		_@ <i></i>	275/
EQUIPMENT	_250	CICE	- 4/-2	
			~ @	
PUMP TRUCK CEMENTER AND TRUCK	- 7Zos	eal G3KB	<u></u>	7700
# 372_ HELPER CERSAL			0	
BULK TRUCK				
#457/25) DRIVER KIBIN				
BULK TRUCK	·			~ ~~ (3/2/)
# DRIVER	HANDLIN	G <i>416</i> -		-
	MILEAGE	Emixel _		- 220
REMARKS: ON Jose & SAFETY MEETING EXTERNAL CIRC. THIS FOR SECTE		SERV	TOTA	
min ISD SK P	DEPTH OF	LIOB Z	12'	112.5
5 At Court Dave Res		JCK CHARGE		
DEP CSON	EXTRA FO	OTAGE ST		186
LANDRYGHEURE 151		1000	_@Z	700
FLAT WORL - CIL CONTO	MANIFOL	D # # 500	_@ <i>do</i>	
Thank Vov	FACE CTUS	milor _	_ <u>e</u>	<u>YOD</u>
200 / 13	/		@	
CHARGE TO: PARK CELLER	ES	ت	·•	27/1
ATA DET		_	τοτ	
STREET			•	
CTTYSTATEZIP		PLUG & FLO	AT EQUIPM	ent

	4- ()	MAGNES	@ 4 _{	- 25
To Allied Cementing Co., LLC.	1- A	FU	@_ <u></u> &	
You are hereby requested to rent cementing equipme	ent /- Gu	DE 56.6	@_3 <i>9</i> \$	<u> </u>
and furnish cementer and helper(s) to assist owner o	r 1-45.	w pluj_	@	_ ///_
contractor to do work as is listed. The above work	was	V		11000
done to satisfaction and supervision of owner agent	ot		TOT	AL //77
contractor. I have read and understand the "GENER	WL			
TERMS AND CONDITIONS" listed on the reverse	side.	AX (If Any)	20060	
A September of the second seco	TOTAL	HARGES	275-	
		NT 2878 22	ر ا 15 م	PAID IN 30 DA
PRINTED NAME	DISCOUL	4/15/4	188	41.42
		7/15/9	مستسه	
SIGNATURE,		• 7		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Veenker Resources, Inc. P. O. Box 14339

Oklahoma City, OK 73113-0339



Invoice Number: 128881

Invoice Date: Oct 15, 2011

Page:

AL

Customer ID	Well Name# or Customer P.O.	Payment Terms			
Veen	Guy Fletcher SWD #1	Net 30			
Job Location	Camp Location	Service Date	Due Date		
KS1-02	Liberal	Oct 15, 2011	11/14/11		

Quantity	Item	Description	Unit Price	Amount
175.00		ASC	19.00	3,325.00
175.00		Class A Lightweight	14.50	2,537.50
44.00	MAT	Fio Seal	2.70	118.80
875.00	MAT	Kolseal	0.89	778.75
370.00	1 ·	Handling	2.25	832.50
50.00	1	Mileage	40.70	2,035.00
	SER	Production	1,925.00	1,925.00
100.00	•	Heavy Vehide Mileage	7.00	700.00
1.00		Manifold Head Rental	200.00	200.00
100,00	į.	Light Vehicle Mileage	4.00	400.00
1.00	- 	4 1/2 Guide Shoe	192.00	192.00
1.00		4 1/2 AFU Insert	249.00	249.00
	EQP	4 1/2 Basket	270.00	270.00
6.00	1	4 1/2 Centralizers	48.00	288.00
	EQP	4 1/2 Rubber Plug	44.00	44.00
	CEMENTER	Kenny Baeza		
	OPER ASSIST	Lenny Baeza		
	OPER ASSIST	Jose Gonzalez		
	1		SCAN	
			SCAN	
				ļ
	+	1		

AV. PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

97979⁴44

ONLY IF PAID ON OR BEFORE

Subtotal 13,895.55
Sales Tax
Total Invoice Amount 13,895.55
Payment/Credit Applied
TOTAL 13,895.55

RECD OCT 24 2011

ALLIED CEMENTING CO., LLC. 036491

REMITTO P.O. B	OX 31					SER	ICE POINT:	
RUSSI	ell kai	NSAS 6766	5			,		al KS.
	SEC.	TWP	RANGE SUL	CA	LLED OUT	ON LOCATION	JOB START	JOB FINISH
ME 10 - 15 - 11	140_	7.85	39-			L	COUNTY	1:30PM
infletcher	WELL#	1	LOCATION Ve		Lingseer	KS.	Haskell	
OLD OR (PEV) (Cir	cle one)							
CONTRACTOR Y	: S. 1. 1.	1 231			OWNED	•	_	
TYPE OF JOB Pe		tion_			UNIVER			
HOLE SIZE 77		T.D	1630		CEMENT		cv	
CASING SIZE 4		DE	TH 1633. (-4	AMOUNT ORE	ERED <u>175</u>	62140	18% gel
TUBING SIZE			7111		175 FLOGE	٠		
DRILL PIPE 45		DE	PTH		1758x CI	sec A AS	5#	Colsega
TOOL		DE	PICH					
PRES, MAX		MI	MUMIN		COMMON		_@	
MEAS, LINE		SH	DEJOINT 44	(0)	POZMIX			
CEMENT LEFT IN	CSG.				GEL			
PERFS.					CHLORIDE		Ø	
DISPLACEMENT	24	<u></u>			ASC		@ 19.30	3325 a

	•	ulpment			Lighthe	abor 172	@ 14.50	2537.5
PUMPTRUCK	CEMEN	ER K	- Adherton			· •	@	
#372	HEI DED		~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~		Florent	<u> </u>	_@_2.73	718.20
BULK TRUCK	1124 LAX				Kaisand			778.75
#472 - 467	DRIVER	-50C	,					
BULK TRUCK	DIN VLIV							93).50 2035.0
	DRIVER		•				- @	
	DIG V				HANDLING_	310	_ @ <u>^2.~2</u>	L
					MILEAGE			_ <u>2.032. 3</u>
	RE	MARKS:					TOTA	L 9627.55
Ciecula	med C	Sasat	to Sur to			SERV	ICE	
Landed	06	. 4-14	reld.	_	DEPTH OF JO	В		-
)			PUMPTRUCK	CHARGE		1425.60
					EXTRA FOOT	AGE	@ .	
					MILEAGE	10	707.00	700.00
~		-1	HANK YOU	111	MANIGOI D		0 200 4	200.00
		<u> </u>	7.		I'A A STAN	142	n @ U. 46	400-00
					3	ente -		
CHARGETO: V	ددسا	cch	esource	<u> </u>			TOTA	13225.0
STREET							1014	L Page V
CITY	s	TATE	ZIP			PLUG & FLO	AT EOUIPMI	ent
					Guida (L@ 192.	192.00
					AFU T	Lex 40	V @ 249.	\$0 7 UA . \$0
m					Backer		1 @ 270	1017W.00
To Allied Cemer			.,	_	Camperial	70-55	6 e 48	284.00
You are hereby	requested	to rent co	menting equipm	nent	Lu blow	luna	1 @ 44	- 44.00
and furnish cem					فستان فالباديمة بيهي	,		
contractor to do							ጥ ረንጥ /	د <u>۱۵۴۵ م</u>
done to satisfact	ion and s	oizivraqu	n of owner agen	t or			101/	·
contractor. I ha	ve read a	nd unders	and the "GENE	RAL	041.00 74.2	16 A - 4 A		
TERMS AND	CONDITI	ONS" list	ed on the revers	e side.	SALES TAX	• • •		<u> </u>
· -		, .	/			RÇES <u> </u>	895.5	
PRINTED NAME	5_1	<u> 1 - //</u>	routs		DISCOUNT	(William	<u> 44</u> 1FP	AID IN 30 DAYS
				-				
SIGNATURE	ستحسر		and the same					